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CHOOSE THE CORRECT ANSWER FROM THE GIVEN ALLTERNATIVES.  

1. Which of the following is an anti-derivative of f(x)=
ଶ௫ାଷ

ଶ௫మା௫
 

A. ln|𝑥| + ln|2𝑥 + 1|                                  C.   ln ቚ
ଶ௫ାଵ

௫
ቚ 

B. 3 ln|𝑥| − 2ln|2𝑥 + 1|                              D. ln ቚ
௫

ଶ௫ାଵ
ቚ 

2. Which of the following is equal to ∫
௘√ೣ

√௫
𝑑𝑥? 

A. 𝑒√௫ + 𝑐                 B. 
ଵ

ଶ
𝑒√௫ + 𝑐         C. 2𝑒√௫ + 𝑐            D. 2𝑒௫ + 𝑐 

3. Which of the following statements is true? 

A. ∫ 𝑡𝑎𝑛𝑥 𝑑𝑥  = ln|𝑐𝑜𝑠𝑥|+c                   C. ∫ 𝑠𝑒𝑐𝑥 𝑡𝑎𝑛𝑥 𝑑𝑥= tanx +c   

B. ∫ 𝑐𝑠𝑐ଶ𝑥𝑑𝑥 = cotx +c                       D. ∫ 𝑐𝑜𝑡𝑥𝑑𝑥 = ln|𝑠𝑖𝑛𝑥| + 𝑐 

4. ∫
௖௢௦ଶ௫

௖௢௦௫ି௦௜௡௫
 𝑑𝑥 is equal to  

A. sinx + cosx+c            C. impossible to integrate       

B. sinx –cosx  +c         D.  none 

5. ∫ 𝑠𝑖𝑛ଶ𝑑𝑥 is equal to       

A. 
௦௜௡య௫

ଷ
 + sinx +c       B. 

௦௜௡య௫

ଷ
+ 𝑐     C. 

௫

ଶ
 + 

ଵ

ସ
 sin2x +c   D. 

ଵ

ଶ
 (x-

ଵ

ଶ
sin2x)+c 

6. ∫
௘మೣିସ௫

௫௘మೣ
 𝑑𝑥 is equal to  

A. 𝑙𝑛|𝑥|+ 4𝑒ିଶ௫+ c          C. 𝑙𝑛|𝑥|- 4𝑒ଶ௫+ c        

B. 𝑙𝑛|𝑥|+ 2𝑒ିଶ௫+ c         D. 
ିଵ

௑మ
+ 2𝑒ିଶ௫+ c       
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7. ∫
ସ௫

(௫మାଵ)మ 
 𝑑𝑥 is equal to  

A. 
ିଶ

௑మାଵ
+ 𝑐               B. 

ଵ

(௫మାଵ)య
           C. 

ି௫

௫మାଵ
           D. 

ଶ

௫మାଵ
 

8. Which of the following is an antiderivative of f(x)= 
௫ାଵ

௫ି௫మ
 

A. ln|1 − 𝑥| + ln|𝑥|                                            C. ln|𝑥| + 2 ln|1 − 𝑥| 

B. ln|𝑥| −2ln|1 − 𝑥|                                            D.  ln|𝑥|+2ln|1 + 𝑥| 

9. Which of the following is equal to ∫ 𝑥𝑒ସ௫𝑑𝑥 

A. 𝑒ସ௫ ቀ𝑥 −
ଵ

ସ
ቁ + 𝑐        B. ¼  e4x(x-

ଵ

ସ
)+c        C. 4e4x(x-4)+c    D. 4e4x(x-

ଵ

ସ
)+c 

10. The value of ∫ (1 + 𝑥)𝑒௫ଵ

଴
dx is  

A.  0                 B. 1            C. e                      D. 
௘ିଵ

௘మ
 

11. What is the area of the region bounded between the graph of f(x)= x2 and g(x)= √𝑥? 

A. 3 sq units         B. 2/3 sq units             C. 1/3 sq units           D. 1 sq. units 

12. What is the area of the region enclosed by the graph of y= x3+x and y= 5x in sq.u? 

A. 16                         B. 8                         C. 4                             D. none 

13. If f’(x) =x2 +8x+3 and f(-3)=32, then what is the formula for f(x)? 

A. x2+ 4x2+3x+2               B. 
௫య

ଷ
+ 8x2+3x            C. 

௫య

ଷ
+4x2+3x+4       D. x2+4x+3 

14. ∫ 𝑠𝑖𝑛ଷ𝑥 𝑑𝑥 is equal to  

A. 
௦௜௡య௫

ଷ
 +  sinx +c           B. 

௖௢௦య௫

ଷ
 –cosx +c        C. 

௦௜௡ర௫

ସ
 +c           D. 

௖௢௦ర௫

ସ
 +c 

15. ∫
௖௢௦ଶ௫

௖௢௦௫ା௦௜௡௫
dx is equal to 

A. sinx + cosx+c            C. sinx – cosx+c        

B. impossible to integrate        D. 𝑠𝑖𝑛ଶx+ cosx+c 

16. ∫
௘మೣ

௘ೣାଵ
dx is equal to        

           A. ex+c         B. ex-ln(ex+1)+c      C. lnቚ
௘ೣାଵ

௫
ቚ + 𝑐      D. ln(ex+1)-ex+c 

17. ∫
௘మೣାଷ௫

௫௘మೣ
 dx is equal, to       

    A. ln|𝑥| +
ଷ௘షమೣ

ଶ
+c      B.  ln|𝑥| −

ଷ௘షమೣ

ଶ
+c      C.  ln|𝑥| +3e-2x+c    D. -1/x2 +2e-2x+c 
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18. If f’ is continuous on [0,1] such that f(0)=3 and f(1)=-1, Then what is the value of   

         ∫ 𝑓′(𝑥)ඥ1 + 𝑓(𝑥)
ଵ

଴
 dx  

A. -12                  B. 14/3                 C. -16/3                    D. 2/3(2√2-1)     

19. ∫
଺௫

(௫మାଵ)మ
 dx is equal to      

  A. 
ିଵ

(௫మାଵ)య
             B. 

ି௫

(௫మାଵ)
           C. 

ଷ

(௫మାଵ)
        D.   

ିଷ

(௫మାଵ)
 

20. The volume of the solid which is generated when the region bounded by y=√𝑥 + 1    

     and the x- axis from x=0 to x=2 is rotated about the x-axis is equal to: 

A. 4𝜋                   B. 3 𝜋              C. 4/3 𝜋                D. ¾ 𝜋 

21. An antiderivative of f(x) = 
ଵ

√௫ାଵ
+e3x is  

A. 
ଵ

ଶ
√𝑥 + 1 +3e3x             C. 2√𝑥 + 1 + e3x/3             

B.  
ଵ

ଶ
√𝑥 + 1 +e3x /3        D. √𝑥 + 1 +3e3x          

22. ∫(1 + 𝑠𝑖𝑛ଶ𝑥)𝑐𝑜𝑡𝑥 𝑑𝑥 is equal to  

A. Cscx-vsec2x +c           C. ln|𝑠𝑖𝑛𝑥| – cos2x+c        

B.  ln|𝑠𝑖𝑛𝑥|+ ½ sin2x+c      D. 2cscx+sinxcosx+c 

23. ∫
ௗ௫

௫(ଶା௟௡௫)
 is equal to   

      A. ln|𝑙𝑛𝑥|+c       B.  ln|2 + 𝑙𝑛𝑥|+c     C. xln|2 + 𝑙𝑛𝑥|+c      D. (2+lnx)+c     

24. ∫ 𝑥ଷ𝑙𝑛𝑥 𝑑𝑥 is equal to  

A. 
ଵ

ଷ
𝑥ଷ(𝑙𝑛𝑥 −

ଵ

ଷ
)+c       B. 4𝑥ସ(𝑙𝑛𝑥 + 4)+c       C. 

ଵ

ସ
𝑥ସ(𝑙𝑛𝑥 −

ଵ

ସ
)+c        D. 𝑥ସ(𝑙𝑛𝑥 − 1)+c   

25. The area of the region bounded by 
1

)(



x

x
xf  and the x-axis between 

2

1
x and 

3x is: 

A. 2ln3
2

7
   B. 2ln

2

7
   C. 2ln3

2

7
   D. 2ln

2

7
  

26. What is the area of the region b/n the graphs of the functions  2xy   and xy  2 , 

where 20  x ? 

A. unitsq.
2

3
  B. unitsq.2   C. unitsq.

3

2
   D. unitsq.3  
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27. What is the volume of a solid revolution obtained by revolving the region enclosed 

by the graphs of the functions 22  xy  and xy 3  about the x-axis in cubic units? 

A. 
15

22
  B. 

15

38
  C. 

15

86
  D. 

15

16
 

28. The volume of the solid which is generated when the region enclosed by the graph 

of the function 1 xy  and the x-axis from x = 0 to x = 2 rotated about the x-axis in 

cubic units is equal to? 

A. 
3

4
  B. 4    C. 3     D. 

4

3
 

29. Which one of the following integral value is false?  

A. cxxxdx  )2sin(
4

1

2

1
sin2   C. cxxxdx  tantan2  

B. cxxxdx  )2sin(
4

1

2

1
cos2   D. c

x
xdx 

1
ln  

30. dx
xx

x
 

1

0
2 2

32
  is equal to: 

 A. 2ln
8

3
   B. 2ln

3

8
   C. 5ln

8

3
   D. 5ln

2

3
  
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